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QUESTION NO: 1

When creating a new metric for simulation in Decision Center, which two types are valid?

(Select two.)

A. Null 

B. Float 

C. String 

D. Domain 

E. Wildcard 

ANSWER: A C 

QUESTION NO: 2

CORRECT TEXT

When configuring Decision Server Rules on WebSphere Liberty Profile, which archive needs to be deployed on the 
application server in order to enable hosted transparent decision services?

A. DSService war

B. HdtsService.war 

C. DecisionRunner.war

D. DecisionService.war

ANSWER: A 

QUESTION NO: 3

How can the state of a decision service branch be captured in Decision Center at a specific moment in time?

A. By creating a new release 

B. By creating a snapshot from Business Console 

C. By creating a sub-branch from Business Console 

D. By creating a baseline from Enterprise Console 
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ANSWER: B 

QUESTION NO: 4

An application developer has changed the Java XOM. The developer then tries to update the BOM but no differences 
appear. 

What are two reasons this could happen? (Select two.)

A. A member in the Java XOM was deleted. 

B. A member in the Java XOM was annotated as ©Deprecated. 

C. Only the content of a method(s) in the Java XOM were changed. 

D. A @NotBusiness annotation was added to a member of the Java XOM. 

E. An additional optional parameter was added to a method{s) in the Java XOM. 

ANSWER: B E 

QUESTION NO: 5

GoodCreditLoans is a financial company that wants to create an automated loan approval application. They currently have 
an application that uses hard-coded logic and manual checks to assess loan applications, generate payment reminders, 
send marketing emails to potential clients, and create monthly sales reports.

The existing application uses these entities: MarketingContact. Equipment. Loan,

Reminder. Applicant. SalesReport

Here are some example rules harvested during rule discovery for the new automated loan approval application:

if the amount of the loan is less than $10,000,000.00 then the loan is rejected

If the amount of the loan is equal to or more than $10,000,000.00 and the applicant's monthly salary is greater than 
$175,000.00 then the loan is accepted

What two entities are needed to write the loan approval business rules?

A. Loan 

B. Reminder 

C. Applicant 

D. SalesReport 

E. MarketingContact 

ANSWER: D E 
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QUESTION NO: 6

CORRECT TEXT

Which rule engine execution mode is designed to optimize a large numbers of objects?

A Faslpalh 

B. RetePlus 

C. Sequential

D. Ciassic Engine

Answer: D

A. RetePlus 

B. Sequential

C. Ciassic Engine

ANSWER: C 

QUESTION NO: 7

Categories named Vehicle and Customer have been added to a rule project. In the BOM of this rule project, a business 
element Car has been assigned categories Vehicle and

Automobile and a business element Client has been assigned the category Customer. Which category filters need to be 
assigned to an action rule so that both the Car and Client business element are visible in the rule? Select two.

A. Any 

B. All 

C. Client 

D. Vehicle and Client 

E. Vehicle and Automobile 

ANSWER: A B 

QUESTION NO: 8

Which IRL function needs to be manually migrated to ARL?

A. reset () 

B. getCurrrentTask () 
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C. setMainTask(String) 

D. Tasklnstance.getTask () 

ANSWER: D 

QUESTION NO: 9

A rule developer needs to write an action rule to apply a 20% discount to customers whose status is GOLD irrespective of 
the value of their shopping cart or SILVER when the value of their shopping cart is more that $100. Which two action rules 
correctly represent this business rule scenario?

A. Exhibit: A 

B. Exhibit: B 

C. Exhibit: C 
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D. Exhibit: D 

E. Exhibit: E 

ANSWER: B D 

QUESTION NO: 10

A customer has an online and batch processing application. The batch process can be executed multiple times during the 
day on demand and can overlap the online application. RuleApps and rulesets are the same across online and batch. The 
batch application also manages big batches with high throughput.

How can this application be architected to address these requirements?

A. - Use an embedded approach for the online application and batch application to address the high throughput and change 
the execution units to file persistence to simplify the deployment. 

B. - Separate infrastructure from online to batch, each one configured in a separate cluster. - Configure a ruleset interceptor 
to route the workload between online application execution units and batch execution units. 

C. - Configure 2 clusters in the same cell where the online application is running: one cluster for the online application and a 
second cluster for the batch process. - Configure the Rule Execution Server console outside of the 2 clusters to share the 
RuleApps across the online and batch application. 

D. - Use separate infrastructure for online and batch processing. 
- Use managed approach with a centralized Rule Execution Server for online. - Configure a set of J2SE RuIeApp clients to 
run in parallel and distribute the batch workload. 
- Change the Rule Execution Server and XU notification mechanism to TCP/IP to use thesame deployed RuleApps for both 
the batch and online application. 

ANSWER: D 
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